




T20P
(Question Practice)



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

How many such consonants are there in the 
above arrangement each of which is preceded by 
a vowel and as well as followed by a vowel ?
उपरोक्त व्यवस्था में ऐसे कितने व्यंजन हैं जजनमें से प्रत्येि िे 
पहले एि स्वर और उसिे बाद भी एि स्वर है?
01. O 
02. 3
03. 4 
04. 5
05. 6



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

Which of the following is fifth to left of seventeenth 
from the left end in the above arrangement ?
उपरोक्त व्यवस्था में बाएं छोर से सत्रहवें िे बाएं से पांचवा ंिौन 
सा ह?ै
01. A 
02. C
03. B 
04. U
05. None of these



Read the following information carefully and answer the following 
questions:
B A E D A DE B C A C U A B D U A D B E B A B C U D E B C D C
The letter of the English alphabets are numbered from 26 to 1such 
that 26 stands for A,25 stands for B,and so on .The assigned 
numbers are used to write the letters of the original alphabets. What 
will be the sum total of all vowels in the sequence ?
अंग्रेजी वर्णमाला िे अक्षरों िो 26 से 1 ति क्रमाकंित किया जाता ह,ै जैसे कि 26 िा 
अथण A ह,ै 25 िा अथण B ह,ै और इसी तरह। जनर्दणष्ट संख्याओं िा उपयोग मूल 
वर्णमाला िे अक्षरों िो जलखने िे जलए किया जाता ह।ै अनुक्रम में सभी स्वरों िा योग 
क्या होगा?
01. 78 
02. 84
03. 76 
04. 88
05. None of these



B A E D A DE B C A C U A B D U A D B E B A B C U D E B C D C

The letter of the English alphabets are numbered from 26 to 1such 
that 26 stands for A,25 stands for B,and so on .The assigned 
umbers are used to write the letters of the original alphabets.
Which of the following sequence denotes the code for a valid word 
?
अंग्रेजी वर्णमाला िे अक्षरों िो 26 से 1 ति क्रमाकंित किया जाता ह,ै जैसे कि 26 िा 
अथण A ह,ै 25 िा अथण B ह,ै और इसी तरह। जनर्दणष्ट अंिों िा उपयोग मूल वर्णमाला 
िे अक्षरों िो जलखने िे जलए किया जाता ह।ै
जनम्नजलजखत में से िौन सा अनुक्रम एि वैध शब्द िे जलए िोड िो दशाणता ह?ै
01. 6 12 17 23 
02. 5 11 18 22
03. 5 12 18 23 
04. 5 12 17 23
05. None of these



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

Which of the following letter is eighth from the right 
end in the above arrangement ?
उपरोक्त व्यवस्था में जनम्नजलजखत में से िौन सा अक्षर दायें छोर 
से आठवां ह?ै

01. B 
02. D
03. A 
04. U
05. None of these



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

How many B are in the following series which is 
immediately  followed by a vowel?
जनम्नजलजखत श्रंखला में कितने B हैं जजनिे ठीि बाद एि स्वर 
ह?ै
01. 4 
02. 7
03. 2 
04. 3
05. 6



Read the following information carefully and answer the following 
questions:

B A E D A DE B C A C U A B D U A D B E B A B C U D E B C D C

How many such pairs are there in the above bold letters (forward 
and back ward direction) each of which have as many letter 
between them as in English alphabetical series ?
उपरोक्त मोटे अक्षरों (आगे और पीछे िी कदशा) में ऐसे कितने जोडे हैं जजनिे बीच 
उतने ही अक्षर हैं जजतने अंग्रेजी वर्णमाला श्रंखला में होते हैं?
01. 0 
02. 1
03. 2 
04. 3
05. 4



In a certain code language RECTORY is written as 
SFDUPSZ. How is VIADUCT written in that code 
language?
एि जनजित िूट भाषा में RECTORY िो SFDUPSZ जलखा 
जाता ह।ै उस िोड भाषा में VIADUCT िो िैसे जलखा जाता 
ह?ै
01. PFSCYLR 
02. XAWEZFZ
03. PSFCYLR 
04. UDVEBJW
05. None of these



How many such pairs of letters are there in the 
word BENEDICTION which has as many letters 
between them as they have in English alphabet 
series?
BENEDICTION शब्द में अक्षरों िे ऐसे कितने जोडे हैं जजनिे 
बीच उतने ही अक्षर हैं जजतन ेउनिे बीच अंग्रेजी वर्णमाला 
श्रंखला में होते हैं?
01. One   
02. Two
03. Three 
04. Four
05. More than five



If it is possible to make only one meaningful word with the second, 
the fifth, the sixth, and the seventh letter of the word PROJECTION 
using each letter only once in each word, which of the following will 
be the last letter of that word. If no such word can be made, give 
answer ’N’ and if more than such word can be made, give answer 
‘M’
यकद PROJECTION शब्द िे प्रत्येि अक्षर िा प्रत्येि शब्द में िेवल एि बार 
उपयोग िरिे दसूरे, पांचवें, छठे और सातवें अक्षर से िेवल एि साथणि शब्द बनाना 
संभव ह,ै तो जनम्नजलजखत में से िौन सा उस शब्द िा अंजतम अक्षर होगा। यकद ऐसा 
िोई शब्द नहीं बनाया जा सिता है, तो उत्तर 'N' दें और यकद ऐसे शब्द से अजधि 
बनाया जा सिता है, तो उत्तर 'M' दें।
01. E 
02. N
03. R 
04. M
05. None of these



Some people are sitting in a row and facing 
towards North. Z is second to the left of F. R is 
immediate to the right of G. There are only three 
people between G and F. D and K are not the 
neighbours of G. F who is fourth from one of the 
ends. R is second to the right of L. There is more 
than two people between Z and R. A is third to the 
left of F.
िुछ लोग एि पंजक्त में उत्तर कदशा िी ओर मुख िरिे बैठे हैं। Z, 
F िे बाएं से दसूरे स्थान पर ह।ै R, L िे दाएं से दसूरे स्थान पर 
ह।ै Z और R िे बीच दो से अजधि लोग हैं। A, F िे बाएं से 
तीसरे स्थान पर है।



Some people are sitting in a row and facing towards North. Z is 
second to the left of F. R is immediate to the right of G. There are 
only three people between G and F. D and K are not the neighbours
of G. F who is fourth from one of the ends. R is second to the right 
of L. There is more than two people between Z and R. A is third to 
the left of F.
If D is between F and Z then what is his position in respect of Z?
01. Third to the left 
02. Fourth to the left
03. Cannot be determined
04. Second to the left
05. Immediate to the right



Some people are sitting in a row and facing 
towards North. Z is second to the left of F. R is 
immediate to the right of G. There are only three 
people between G and F. D and K are not the 
neighbours of G. F who is fourth from one of the 
ends. R is second to the right of L. There is more 
than two people between Z and R. A is third to the 
left of F.
Who sits at the extreme right end?
01. R 
02. F
03. G 
04. Z
05. D



Some people are sitting in a row and facing 
towards North. Z is second to the left of F. R is 
immediate to the right of G. There are only three 
people between G and F. D and K are not the 
neighbours of G. F who is fourth from one of the 
ends. R is second to the right of L. There is more 
than two people between Z and R. A is third to the 
left of F.
How many people sit between G and Z?
01. Seven 
02. Five
03. Four 
04. Six
05. Three



Some people are sitting in a row and facing 
towards North. Z is second to the left of F. R is 
immediate to the right of G. There are only three 
people between G and F. D and K are not the 
neighbours of G. F who is fourth from one of the 
ends. R is second to the right of L. There is more 
than two people between Z and R. A is third to the 
left of F.
If S is immediate to the right of F then what is his 
position with respect to G?
01. Second to the left 
02. Third to the right
03. Third to the left 
04. Fourth to the left
05. Sixth to the left



Some people are sitting in a row and facing 
towards North. Z is second to the left of F. R is 
immediate to the right of G. There are only three 
people between G and F. D and K are not the 
neighbours of G. F who is fourth from one of the 
ends. R is second to the right of L. There is more 
than two people between Z and R. A is third to the 
left of F.
If R sits one of the end then how many total people 
in a row?  
01. Ten 
02. Eleven
03. Twelve 
04. Eight
05. Nine



W walks 4 km towards west then she turns 
towards northeast direction and walks 5 km. Again 
she turns towards south and walks 2 km. Finally, 
she turns right and walks 4 km.
W पजिम िी ओर 4 किमी चलती ह,ै किर वह उत्तर-पवूण कदशा 
िी ओर मुडती ह ैऔर 5 किमी चलती ह।ै वह किर से दजक्षर् िी 
ओर मुडती ह ैऔर 2 किमी चलती ह।ै अंत में, वह दाएँ मुडती ह ै
और 4 किमी चलती ह।ै



W walks 4 km towards west then she turns 
towards northeast direction and walks 5 km. Again 
she turns towards south and walks 2 km. Finally, 
she turns right and walks 4 km.
What is the total distance he covered? (in km)
01. 11 km 
02. 15  km
03. 17 km 
04. 19 km
05. 13 km



W walks 4 km towards west then she turns 
towards northeast direction and walks 5 km. Again 
she turns towards south and walks 2 km. Finally, 
she turns right and walks 4 km.
In which direction is she from her starting point?
01. Northwest
02. North east
03. Southwest 
04. Southeast
05. North



Six people R, U, W, A, D and H are living in a building of six floors 
from bottom to top (numbered 1 to 6) but not necessarily in the 
same order. Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives on the topmost 
floor. The person whose place value is 21 according to the English 
alphabet does not live on an even and the lowest floor. There are 
three people between people R and A.
छह व्यजक्त R, U, W, A, D और H नीच ेसे ऊपर ति (संख्या 1 से 6 ति) छह 
मंजजलों िी एि इमारत में रह रह ेहैं लेकिन जरूरी नहीं कि इसी क्रम में हों। व्यजक्त W 
चौथी मंजजल पर रहता ह।ै व्यजक्त D दसूरी मंजजल िे ठीि ऊपर रहता ह।ै व्यजक्त R 
सबसे ऊपरी मंजजल पर रहता ह।ै वह व्यजक्त जजसिा स्थानीय मान अंग्रेजी वर्णमाला 
िे अनुसार 21 ह ैवह सम और सबसे जनचली मंजजल पर नहीं रहता ह।ै व्यजक्त R और 
A िे बीच तीन व्यजक्त हैं।



Six people R, U, W, A, D and H are living in a 
building of six floors from bottom to top (numbered 
1 to 6) but not necessarily in the same order. 
Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives 
on the topmost floor. The person whose place 
value is 21 according to the English alphabet does 
not live on an even and the lowest floor. There are 
three people between people R and A.
Who lives immediately below the floor on which 
the person R lives?
01. H 
02. U
03. W 
04. A
05. D



Six people R, U, W, A, D and H are living in a 
building of six floors from bottom to top (numbered 
1 to 6) but not necessarily in the same order. 
Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives 
on the topmost floor. The person whose place 
value is 21 according to the English alphabet does 
not live on an even and the lowest floor. There are 
three people between people R and A.
Who lives on the even prime number floor?
01. W 
02. U
03. R 
04. H
05. A



Six people R, U, W, A, D and H are living in a 
building of six floors from bottom to top (numbered 
1 to 6) but not necessarily in the same order. 
Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives 
on the topmost floor. The person whose place 
value is 21 according to the English alphabet does 
not live on an even and the lowest floor. There are 
three people between people R and A.
How many people live between U and R?
01. None 
02. Two
03. Three 
04. One
05. Cannot be determined



Six people R, U, W, A, D and H are living in a 
building of six floors from bottom to top (numbered 
1 to 6) but not necessarily in the same order. 
Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives 
on the topmost floor. The person whose place 
value is 21 according to the English alphabet does 
not live on an even and the lowest floor. There are 
three people between people R and A.
Who lives on the 1st floor?
01. U 
02. W
03. H 
04. A
05. R



Six people R, U, W, A, D and H are living in a 
building of six floors from bottom to top (numbered 
1 to 6) but not necessarily in the same order. 
Person W lives on the 4th floor. Person D lives 
immediately above the 2nd floor. Person R lives 
on the topmost floor. The person whose place 
value is 21 according to the English alphabet does 
not live on an even and the lowest floor. There are 
three people between people R and A.
Who lives on the 6th floor?
01. R 
02. A
03. U 
04. H
05. Cannot be determined



F is the father of D and brother of G who is the son 
of L. M is the mother of U and sister of G. Those 
who belong to the third generation are all female 
and have no children.
F, D िा जपता ह ैऔर G िा भाई ह ैजो L िा पुत्र ह।ै M, U िी 
मां और G िी बहन ह।ै जो तीसरी पीढी से संबंजधत हैं वे सभी 
मजहलाएं हैं और उनिी िोई संतान नहीं ह।ै



F is the father of D and brother of G who is the son 
of L. M is the mother of U and sister of G. Those 
who belong to the third generation are all female 
and have no children.
How is U related to G?
01. Mother 
02. Sister
03. Daughter 
04. Niece
05. None of these



F is the father of D and brother of G who is the son 
of L. M is the mother of U and sister of G. Those 
who belong to the third generation are all female 
and have no children.
How many males are there in a second 
generation?
01. One 
02. Two
03. Three 
04. Four
05. Five



F is the father of D and brother of G who is the son 
of L. M is the mother of U and sister of G. Those 
who belong to the third generation are all female 
and have no children.
How L is related to M?
01. Father 
02. Mother
03. Sister 
04. Wife
05. Cannot be determined



6 persons –M, R, N, H, A, and G attend a meeting in three different 
cities viz. Mumbai, Agra and Mathura. The meeting at each place is 
scheduled on two dates 2nd and 7th of the same month. It is not 
necessary that all the information is in the same order. R attends 
the meeting on an odd date in Mathura. A and G attend the meeting 
on even dates but not in Agra. Only one more person attends Agra 
meeting with M. H alone attends the meeting in Mumbai. The 
meeting of Agra is not scheduled on an even date.
6 व्यजक्त- M, R, N, H, A, और G तीन अलग-अलग शहरों अथाणत मुंबई, आगरा 
और मथुरा में एि बैठि में भाग लेते हैं। प्रत्येि स्थान पर बैठि एि ही महीने िी दो 
तारीखों 2 और 7 तारीख िो जनधाणररत ह।ै यह आवश्यि नहीं ह ैकि सारी जानिारी 
एि ही क्रम में हो. R मथुरा में एि जवषम जतजथ पर बैठि में भाग लेता ह।ै A और G 
सम जतजथयों पर बैठि में भाग लेते हैं लेकिन आगरा में नहीं। M िे साथ िेवल एि 
और व्यजक्त आगरा बैठि में भाग लेता ह।ै H अिेले मुंबई में बैठि में भाग लेता ह।ै 
आगरा िी बैठि सम जतजथ पर जनधाणररत नहीं ह।ै



6 persons –M, R, N, H, A, and G attend a meeting in three different 
cities viz. Mumbai, Agra and Mathura. The meeting at each place is 
scheduled on two dates 2nd and 7th of the same month. It is not 
necessary that all the information is in the same order. R attends 
the meeting on an odd date in Mathura. A and G attend the meeting 
on even dates but not in Agra. Only one more person attends Agra 
meeting with M. H alone attends the meeting in Mumbai. The 
meeting of Agra is not scheduled on an even date.
Who holds the meetings in Mathura?
01. M 
02. N
03. A/G 
04. R/A
05. R, A and G



6 persons –M, R, N, H, A, and G attend a meeting in three different 
cities viz. Mumbai, Agra and Mathura. The meeting at each place is 
scheduled on two dates 2nd and 7th of the same month. It is not 
necessary that all the information is in the same order. R attends 
the meeting on an odd date in Mathura. A and G attend the meeting 
on even dates but not in Agra. Only one more person attends Agra 
meeting with M. H alone attends the meeting in Mumbai. The 
meeting of Agra is not scheduled on an even date.
In which of the following city does A meet?
01. Mathura 
02. Agra
03. Mumbai 
04. Both 1 and 2
05. None of these



6 persons –M, R, N, H, A, and G attend a meeting in three different 
cities viz. Mumbai, Agra and Mathura. The meeting at each place is 
scheduled on two dates 2nd and 7th of the same month. It is not 
necessary that all the information is in the same order. R attends 
the meeting on an odd date in Mathura. A and G attend the meeting 
on even dates but not in Agra. Only one more person attends Agra 
meeting with M. H alone attends the meeting in Mumbai. The 
meeting of Agra is not scheduled on an even date.
Which of the following combination is correct?
01. H – 2 Mumbai 
02. R – 7 Mathura
03. N – 2 Agra 
04. A – 7 Mathura
05. G – 7 Mumbai



6 persons –M, R, N, H, A, and G attend a meeting in three different 
cities viz. Mumbai, Agra and Mathura. The meeting at each place is 
scheduled on two dates 2nd and 7th of the same month. It is not 
necessary that all the information is in the same order. R attends 
the meeting on an odd date in Mathura. A and G attend the meeting 
on even dates but not in Agra. Only one more person attends Agra 
meeting with M. H alone attends the meeting in Mumbai. The 
meeting of Agra is not scheduled on an even date.
Who attends the meeting on 7th in Agra?
01. N 
02. R
03. H 
04. A
05. G






